


SS-10-Econ.

GENERAL INSTRUCTIONS TO THE E
. (1) el adem ST weA- AR

- Candidates must mt@@ct
@) @ aﬁa’f@%

All the questions are compulsory.

® e S T IR 7§ S i & ford |

Write the answer to each question in the given answer sheet only.

@) T st 3 srwales wos , 37 @) % o w w e |

For questions having more than one part, the answers to those parts are to be written
- together in continuity.

(5) T 1 TR Foram | g R 61 ShEIh 3T o |
Write down the serial number of the question before attempting it.
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6 s R . e # Tt wehm St Jfe /i /e g '@ﬁm%v_&r-mm%
WY I A TR AN | | |
If there is any kind of error / difference / contradiction in the Hindi & Ep olish
versions of the question paper, the question of Hindi version should be treated valid

() e 178 23 st foee § | TRt O feeen At em i |

Question Nos. 17 to 23 have the internal option. Attempt any one optiop, h
gis - A
SECTION - A
1. wgfeshedt 991 : o
' Multiple Choice Questions : @ :
() ‘g T A AT g, WF%W%é@mg
(31) TeH fer %,1_}‘(?) T st )
(@) A HATS Hr @&@" (]) e garemm l
The author of tkfe book?fﬁm General Theory of Employment e
(A) Adam Smith (B) Alfred Mars kel ? f}rest and Money’ is 1
(C) John Maynard Keynes (D) Paul Samuelsop |
(i) T 2 1 AT 2
(31) T (@) =
() =g (3) wmy
The remuneration of human labour is ‘ |
(m) e (B) Interest -1
© Wage ©) Puoty | \
(iil) T FEATET 8 W S el ' d |
() el () v 4}
(@) SN @ w |i
b A Quantity measured over a period of time H
N ock :
(A ) o reciation ) Flow !
}' (©) pep (D) Wealth '
ol j
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(iv) Wﬂwﬁ‘ﬁﬁ?@ﬂ'ﬁﬁw%
(31) S 3T gfogen (F) Re % A% 3e
(&) A 9% siw g (®) Tord d 31w sfoe
The institution issuing currency in India is 1
| (A) Bani( of India (B) State Bank of India
(C) Union'Bank of India (D) Reserve Bank of India
(V) HATEN o e g @ o s
(31) M, . (&) M,
) M, (B M,
The most liquid and easiest for transactions 1
(A) M, - B) M,
© M, ‘ ©) My
(vi) A H fefmadfemf g o0, 7
(3) 1wl | 3 pfeEe A (F) 19 & 30 18
() 13319 () 1Je$ |30
The period of Financial Year in India is 1
(A) 1 January to 31 December (B) 1 March to 30 April
(C) 1 April to 31 March (D) 1 July to 30 June
(vii) @l TEEgel foky geer g R 9 areft sreferaen e 2
() ISt sreferen (F) i Aeareg sreferaen
(|) Tufdm arferaeen (]) IR Irefegareen
The economy in which all important economic decisions are made by the government,
is called 1
(A) Capitalist Economy (B) Centrally Planned Economy
(C) Mixed Economy (D) Market Economy
gs-10-Econ. [ Turn over
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(vii) Eeia SRR <61 IO 6T g R |

(31) MU, =TU,-TU, _, (®) MU,=TU,+TU,_,

(@) MU, =TU,~TU,,, (R MU,=TU,+TU,,, y |
The formula of calculating Marginal Utility 1 m
(A) MU, =TU,-TU, _, (B) MU,=TU,+TU,_,

(C) MU,=TU,-TU,,, (D) MU, =TU,+TU,,,

(ix) TR BeM 2

(37) X=1(K) (&) X=AL)

(&) X=1p) (R X=1Q)

The Demand function is Jg

(A) X=1fK) @% X=11) 1

(©) X=fP) (™ |

{; ' D) X=fQ)

@G! =
LA : A |

(x) T % Sichet i deeh
(31) afa awwa»‘r@j () s |
(8 ST @ |
( . \
Returns to scale is related with '
(A) Very short run period (B) Sho rt run pey; . 1
€r1
(C) Very long run period (D) Tl p -0
€riod
(xi) 3Gd IeITE S3F T FTHR B
(31) 3 FTHR (@) Toy 1 | }.
(7)) afesita (@) Sy |
The shape of Average Product curve is
(A) U shaped B) Inyers, e 1 |
(C) Horizontal (D) Vel‘tical aped
10- Eco
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(xii) T TR ST 31 et 2

(3) < ffa stiresan gar 2 | ) aaﬁﬁa?fﬁq@?ﬂ%l

(@) = frfay=aare (3) w=friaRraard)

Total Variable Cost is zero 1
(A) when the output is highest. (B) when the output is lowest.

(C) wheq the output is zero. (D) when the output is constant.

2= Wm‘ﬁﬁﬁm
" Fill in the blanks : |

When a country buys goods from other countries of the world, it is called . 1
Gy — fafma e os adna mem 2 |
is a common medium of exchange. 1
(i) M-ArasaFTgEIE %Laﬁ)\ ""‘M
The main item of non-plan.g ﬁ@ﬁﬁ?@re is ol : 1

(iv) ST @%‘aﬁ%ﬁmaﬁl

Scarcity of resources give rise to the problem of ’ 1
) woft FusirFaTail 6t @it Wi 1 s A 2 | '
The is the total demand of all the consumers. 1
(vi) S Tt o fartdl o Wed geY i ewiar |
function shows the relationship between inputs and outputs, 1

3. e T SRR 10-20 wred} 7 A -
Answer the following questions in 10-20 words :

(i) TN sreferereen 1 1 v fsivar fafg |

Write any one characteristic of a capitalist economy. 1

(i) T Yoy s @y wree Hif | |
Explain the National Disposable Income. ‘ : 1
gs-1 0-Econmn. | Turn over
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(iii) THHE THIU A loowﬁalﬁaﬁr-mmwﬁ% |waéﬁ%4oaﬁnwa?ﬁa@m

mmm%aﬁtﬁﬁmmwﬁamﬁm‘ﬁﬁm

A firm produces goods of worth X 100 in a year. In that year intermediate goods of

worth T 40 is used. Calculate the gross value added.

) e SR SR S 5 s W 3 1 6 W i S R 6 w0 e

If you have savings account in a commercial bank, what type of de

deposit in this account ?
(v) SR ? o |
What is Bank rate ? Explain.
(vi) HAfTT soTe =t yitaiig ik |
Define Balanced Budget.

(vii) TR ST 1 s T I299 €aTsU |

State any one objective of government budget,

(viii)mﬁm%mﬁméﬁﬁqyﬁ&m%?

cx
£72

What is meant by productior;@émhbility set of an econofny 2

2

(0 3 i 1 <6 40 g & < v i
IR R A '

If price of Bahghas increases by 40 percent

dem
20 percent. What will be the price elasticity of dogy 1 - " P20

and 9
(x) IATTHE TR ?

What is short-run period ?
(xi) T 3T 6T Torn 1 g feafta |

Write the formula to calculate marginal product

(xii)@immwmﬁé@aw%mq

Write any one feature of a perfectly competitiy e Mark
IKet,

Ecor
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SECTION - B

forey w2l o 3T 30-40 el 1 difeTa

Answer the following questions in 30-40 words :
4. T gt o ot gt 5 vk 5 e @ s |

Give any two examples each of consumer goods and capital goods.
5. H$HWQwﬁwmmﬂ¢aéwwmﬁ#ﬁammmmhﬁammm1

Explain the concepts of Gross Natlonal Product and Gross Domestlc Product
6. SATTETRIE Aokl < fohal Q1 J&T T &1 9o Hifd |

Describe any two main functions of Commercial Banks.

. mmﬁaaﬁrwawwmm P

g;} 7 Z:f'-'"

Mention any two items of capy pi

g. WIS aeqail Sl IS ahieds
Write any two features of public goods.

9. waamnﬁémmaaﬂ%w@$%éﬁmam%ﬁmu

Write two examples each of the direct taxes and indirect taxes.

10.  TSTE €12 <Y 7oy S50 bl Sl & 7

How revenue deﬁcit is calculated ?
11. 3TeieHaedT i I o hetd gEed fofgu |
Write any two central problems of an €conomy.

12, IR I TS SR 1 ISR H TR § guTsy |

Explain complementary and substitute goods with an example.

SS-10-Econ.
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1+1=2
1+1=2
1+1=2
1+1=2
1+1=2
2
1+1=2
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13. mﬁmraa%smqaﬁm&aaﬁm|

Draw a diagram of an indifference curve.

14, Fo R 0T I3k oh8 SRR T 21 2 7 IS Ush 10T SIfoT |

What is the shape of Total Fixed Cost Curve ? Give any one reason.

15, TG T STELn hi St i |

Discuss the concept of Average Revenue.

16. STR 9fd 67 319 W52 SHifT |

Explain the meaning of Market Supply.

T g -9

SECTION C

’)y), i

1 woAT % IR 60- sos@‘ﬁ?ﬂﬁl\

Answer the following questlons in 60-80 words :

_ gﬂw%ﬁaﬁﬁ%a £y

“Welfare does not increase with the increase in Gross Domestic Product »
two reasons with reference to the statement.

3141/ OR
ﬁmaﬁﬁiaﬁmﬁmmmpm)ﬁﬁm%;

(i) TR e T I

Y 1,000 %0 |
(i) e 3200 Firg
(i) IR 3150 g
(iv)  HIE $250 Fig
c5-10-E"
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9
Calculate National Income (NNP) with the help of following data :

(1) Gross National Product at Market Price % 1,000 crore

(ii)  Depreciation | % 200 crore
(iii) Indirect taxes ' % 150 crore
(iv)  Subsidy < 250 crore

18. H=1a b b fohegl ot sl w1 Ui IR |

19.

Describe any three functions of the Central Bank. 1x3=3

IYET/OR

wﬁaﬁmww@mﬁmﬁaﬁqﬁmi

Explain briefly Micro-Economics and Macro-Economics. 1%2+1%=3

37¥E1/OR
Wﬁﬁmﬁwwmﬂﬁmm%mmwﬁﬁq |

Differentiate between Positive Economic Analysis and Normative Economic Analysis.

20, T SEd 1 HHE T 10 TH G 100 3T & | Fd wgt T 12 9 R I TG 120 s

SS-10-Econ.

21 e & 1 R <Y F @ T i |

The price ofa commodity is ¥ 10 and the supply is 100 units. If the price increases to ¥ 12

and supply increases 10 120 units, calculate the price elasticity of supply. 3

YT/ OR
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w1t ot eferenrelf e 3 o g i 2 10 T 5 R 7 4 g€ ot o per e

o= GuTfe <ht TOMT iy
SR AE | SO wenfe | e gt
(3913) ) ]
1
2
3

If the price of a good in a perfectly competitive market is T 10 per unit, compute the total :
revenue and marginal revenue in the given table : | i

Quantit;' Sold | Total Revenue | Marginal Revenue N ‘
(Units) ®) ® | | 1
1 - ;] |
K-, |
2 0 ' -
ﬂ’-ﬁ?ma. iﬁ
3 2 E P »
o i YT | ;
Y e |
AN
o8
SECTION -D
fr=1 91 <6 3 100-150 vreat 3 Afdve -
Answer the following questions in 100-150 words : |
21. WTE G i ol & dimnat =t weesy |
[xplain any two limitations of credit creation. 4 |
FUET/OR &
|
g7 e o T TS T HES | ¥

Explain the four major measures of money supply.

. p-Eeom
551
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w2 o e e P o e & e R |

Explain movement along the demand curve with the help of diégrams.
FYET/OR
it <t < @i < s faf ! i FHETE |

Explain the geometric method of price elasticity of demand with a diagram.

EECLENI m%mﬁm%@ﬁaﬁwﬁﬁm |-
Discuss the law of variable proportlons @@\ﬁmlp ofa dlagram

___:,.mZgB
S "ﬁ*ﬁaﬁfmﬁ%@ﬁa‘reﬁwﬁww 1

st with the help of diagrams.

™

Discuss Average F 1xed Cost and Average Variable Co
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